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Time: 10 Minutes | Paper Math 6 (T-1) Total Marks: 10

| 1st Month, 4th Week, 4th Day | Unit # 1: Factors and Multiples |

Q.1. Choose the correct options. (0.5x 6=3) -/ /':..«B:'ll(..._«lﬁwu
(i) The absolute value of —15 is: :‘L.w:f. Jﬂv d/ -15

(a) 0 M|  -15 | 15 (d) 10
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(i) The absolute value of —15 is:
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(ii) What is the absolute value of 0?
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(ii) What is the absolute value of 0?

(a) 1 (b) 0 (9] 2 (d)
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(iv) The absolute value of —111 is:

(iv) The absolute value of —111 is:
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(v) What is the absolute value of 3?
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(v) What is the absolute value of 3?

(@) 0 (b) -3 (©) 5 (@) 3

(vi) It is —3°C tonight. Neelam predicts it will be 18°C by noon
tomorrow. What will be the temperature by noon tomorrow?
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(a) 10°C (b) 12°C (c) 15°C (d) 18°C
Q.2. Write the absolute value for each integers. (1x2=2)

19,254,231, 0 -u#led Pl

Q.3. An elevator is on the eighth floor. It goes 10 floors down and
then up 3 floors. At which floor is the elevator now? (1x2=2)
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Q.4. Calculate your age from your birth year and explain which
arithmetic operation you need to find your age. (1x3=3)
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